& 6Xleor &gy 2019-20 / Model Question Paper 2019-20 (1)

USSND eu@Le - X STD
B 9|Wlaflwev - Science
(B0 LHDKD Syhieoid el - Tamil and English and version)

ey 15 B
graoLD Heray - Lb+3 Loewf] G ST 115

E:llf_fil_l_‘_"_” ed : 15 mins + 3 hrs Maximum Marks :75

oflyey: I jﬁ@mg,g,; oends@pnd afluns wdals Ubonnd) DETENST  GIHILIDS
Lidgis  Qanerenayn.  wdsr  Lbeld  @@pulmLndsT D
SeSrSIe I ILTeT L b 2.1 a1 uinsd O\sflalssea b
2. fovid Srehavg) FBLIL LoUenew eT(LpgIausDEGLD 2119 HC5T14(h s HE@LD Lo (HGLD
LWEHTLb s Gauair(biv.Li iger euenraisn@L QLT LLeTLI(GSEALD.

mnstructions : 1. Check the question paper for fairness of printing. If th,ere is any lack of fairness,
inform the Hall supervisor.

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
GOl : BaielTSS16T B6t @ Lfleysmend; Qe g
Note : This question paper contains’four‘parts _
U@# 1/ PART I
giiy: (i) Heidg eferésend@n ol wefdsayn. L4
(i) LBEayLD @un@g;g,mnm oS?a)Luﬂsnm Gg,gg,@g,@_ssg,f @;g,ea'r @Lrj?uﬁ_@‘t_m
aflenL_uflenerifLb TS5 il & £

Note: (i) Answer all the questlons S 12 x 1!12‘

(ii) Choose the most suitable answer and write the code wsth the correspondmg answer.

1. semTSSTHS 6TEOTLSI

) 2_HBLrHml afg A etk * o) aflews wpg:w BT m:r;_r);y sﬁg,w WS
@) &,r_r,g. wrrp;nw _ e 'FF) ﬁmp a?ﬁ Lsrrpg)w i '
Impulse is the e o L R '_ P
Ia) rate of change of momentum i _b) rate of change ef force and time . _

¢) change of momentum h d) rate of change of mass. :

Z 25 GummensT G}ajauﬂu@gﬂmrrcmm :giaumgu @aﬂlmﬂ,sgin'@wn' a;uGlun'@aﬂm

9)) SASAEGD |y e s o | Qi,) @mmuw e

@) wrppibivee - ) apgefisi abas Gmpu

f that substance
i t dercooled then the mass 0 T L N

;fa.l e hea 5 b b) decreases .

) INCreases, gy ih - d) elther mcreases er decreases _ )

¢) remains same (g sty DEIE
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3. gefl em_m5Hd Qrdgup HemsGausd sTiHS FpssrTEtd euLStinme @m‘lg
sufienzullsy sufienal) LE S SIS .
3)) srhy > sewenTry > B ) Fi > &Y >.assmmrrrq.
@) serenmry < B < srpp ) seirenvIid " Fr >arhp
Arrange the following media in descending order on the basis of speed of sound

ir > glass
a) air > glass > water b) water > m:m_i e
¢) glass < water < air d) glass= W

4. &pmeir_subhpisT sTEI LpeuFI préw?

o) GepECuray o) afelud @) sriusroLBEmED ) ,,,ml,_m*
Which of the following is a triatomic molecule? "
a) Glucose b) Helium ¢) Carbon dioxide d) Hydrogen

. sefluiisslisr pefer gafbsar oy susnamruflsd Gapugsit GEDUS SRk g

...... Gsrgdlemws Gsrpsmar

=) 1Taugm =) 15051 @) 18euzy ) 16sug iy
In modemn periodic table of elements group contains the clenmts:f halogen family,
a)17" b) 15% Q188 d)16

6. wremreui o Hfalui GrigmD Gfrﬁmsﬂ:rlfkit Burg ﬁi_(hmm
smapC rréman® @BHsuriiyma uwaTu @GS Lﬂwn..arn_‘q,a‘»w iﬁ'pg@g masy
oL @F GesrmalllLmi. Awprisisfiss a;surram?ﬁuun_quu . 2.fiy
CrradwCurg Foangald Bnps Cerguid m;mia'wsmfm@ G;.Frrmm ﬂn
angelley @@oumsl urigsrt. Gapsrar srysmd Grrigwid HADLTTEmaysS

............. LIGHSTL] 4, 1D.
=) Frbe gigsfssmrsd) ) Frive_flessse
@] 5'?5?3‘5‘:”&“'—&"“ F}I.ﬂnﬁsmuml_ﬁw

While doing a science practical experiment, a student left a bottle opened aﬂcrlfsa
contained solid sodium hydroxide. When the student visited the laboratory again 81
days and found only liquid sodium hydroxide in the bottle. This is due t0 ... H"T
of sodium hydroxide. '

a) Hygroscopic b) Deliquescence

¢) Dehydration d) Dissociation
7. weéd suniiuri g6 yivenLulls wweds sreTliuLng useuens ____———

&) STl U &) WS uTdL L)

@) et Bib L ) Garepris sy '
According to the dental formula -~ kind of teeth is absent in rabbit. i
&) molar b) pre-malar ©) incisor d) canine
8. wafls apmaruleh HL5S wwwrss Qeudu@i ugH
o) ursTs %) SeoTwsiy @) Ql-l@u,omw L 4}
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Note :

The part of human brain which 501

5 as relay centre is
a) pons

‘ . ¢) cerebrum d) cerebellum

g. waElipd WETHASA mreflsr e Hugd) Qadaisy B Glupih Blsiiifse suens
) PO LTAN o) By flgny
The type of cell division oceurs jn
a) Mitosis b) Meiosis

b) thalamus

@) smwlLrdflav &) oy, whmid @
generative cell of mature podlen grain
©) Amitosis d)both b and ¢

10. Gprav o ullfiiLig ek eflsr STRVSMS 2y flw o_sayis Antiurer sHELTMHEWL apsmm

&) CriyGuir Sriust geny o) yGraflub - srfw weom

@) QurLrdluh ~ syisrer ey ) o 10Dyt @)

The best way of direct dating of fossils of recent origin is.....

a) radio-carbon method

5 b) uranium-lead method
¢) potassium-argon method

d) both a and ¢
f ewws ymsulla sighity dans
=) Guw 31 %) 229 6 @) ervrs 22 =) SEGLruF 2
World 'No Tobacco Day' is observed on
a)May 31 b) June 6 ¢) April 22 d) October 2
12. Epsmmeusig by Gy (script) 2 (FurdsOuwsiTuPags s ?
=) Script area =) Block palette  (3)) Stage ) Sprite’
which of the following is used to build scripts? f
a) Script area b) Block palette ¢} stage d) sprite
ugs 11/ PART II

(i) Answer any seven questions: (Q. No.22 is compulsory) Tx2=14

@iz () gGagb 7 dlammdaande e walhsayb.

(ii) (sfflewn ereir 2248 'L munons Ldevaldsayo)
13. auremio sy fov Bpiorss Carsrmdng?
Why does the sky appear blue in colour?
14, @u{fgms wHmid QEwpenss &ﬂrﬁu&aéﬂ&i‘r aCseud ErewE ueTysmer
g 5%, 7
Write any two features of natural and artificial radio activity?
15, er wppib Werr Geualmensemar Gagu@sss.
Distinguish between reversible and irreversible chemical reactions. .
16. & amaiome_ Qi roumeflsn sriudr siiel GprLAar seulTar oy uieo L ulld
WDELLGGE sl quriuTL el STagHI%.
() yro@uer (i) Queindar
Classify the following compound
Structural formula:
(i) Propane (if) Benzene

s based on the pattern of carbon chain and give their
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7. SUTEEHRITT SHeMM 6TETMTE) STETET?
What is vascular bundle?

18. Lﬂﬁ\!ﬂﬁﬁ'&ﬁﬁo’u &mcmrrl'_l_ml'mg '@IJ’L'-ML-".‘ &‘mc}’pn‘,uj' aTEuT dmhﬁ'ﬁﬁﬁu@é}m&

&766T?
Why is circulation in man referred to as ‘Double Circulation'?
19, ULSHD o drer puIT LTHSSISTE GMPUTLIMIT HSLTITD Sredng)
sT6iT sy ADE?
Identify the disorder with which the person shown in the figure is suffering
20. sreurmsst wppih aflwiigsefs ylermiig lensy FTSHTSTHTE 6T6ir
SHSLILEEDS?
Why is Euploidy considered to be advantageous to both plants and animals?
21. e ullfl suryenauts wSTLF S5INSST memepLomsTUTERET
What are the advantages of using biogas?
22. \Beir grad) peirgs 1.8 Ball? @Esasssr £y paidps rafld 50 414 Pap
GarenL uahisi ssususray GsTHm srenLuflener o_auritauri?
A lift is moving downwards with an acceleration of 1.8 ms™. What is apparent weight

realised by aman of mass 50 kg?
v O/ PART III

@ity : () gGsgb 7 dfleandaende eleLwealdsan. T x 4=28
(i) (aflem crader 3245 &L muitons Liflevaldaaib)
_ Note:  Answer any seven questions: (Q. No.32is compulsory)
23. Qurmsss
ugs | ugd Il
=) By 1 _ssfleir qppevails) i) or&EQa srayseflsy LwSTLBH DS
o) Byt aflér Gramirid olg) i) Qurgrseer s :
@) Blu’ 1 aflsr geirpr agl iii) afleneulleir aflg
) CrisGari® iv) upensy Ups 5l LweTLGADS!
2 psojfialldrenals)
Match the following
Column I
a. Newton’s I law

i) propulsion of a rocket e
i) Stable equilibrium of 2 body ;

iif) Law of force !
iv) Flying nature of bird

b. Newton's I1 law
c. Newton's ITT law

d. Law of conservation of Linear momentum

i
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b, ) Beralflolh gemais cienyup,

iy 303K f’“‘“”“ﬁ“‘_‘“““ﬂ"“ 20 SAgudlaiy geimger Farid 50 1f sl oysavar 323
K Q.ml_.luﬁmsws@ @mﬁu&u@ggfn Gurgl yzar FarsAle srhuGin
wrpDSADeT SawhAGs, ( Sgudlaflusger Faralifas gamsin 23X 109K )
i) Define : Co-cfficient of lineas expansion,

j"‘c 1"”311‘ ofan aluminium rod at the temperature 303 K is 50m, What would be its
increase in length when it s heated to 323 K. 2 ( The linear co -efficient of Aluminium is

23%10°K™)
2. 1) sg@rTsd Calushing Camauurar Grein® Pupsmersmas awmis.
il) s AQrTsluledr wmssiaus Lwsasr Bramgenerd s
i) State two necessary conditions for hearing an echo.
ii ) What are the two medical applications of echo?
26. i) owBuwraflurald o srar mpcraesr mallsitesafs @mumus sarsdds.
i) A srsitugy@ausiraflulleir Qaugimenis Gureirm o Gavrasis, A oz 'O 2 L ar800°C
uisvallenarfltg Gsiwn B enw 2 Faursgang,. A ullst = Cursdsasnar
aflrarsglerurshisstlsiuinuau@ns. A wnmh B mésain s
i) Caleculate the percentage of nitrogen atom in ammonia molecule.

ii) Ais asilvery white metal. A reacts with O, at 800°Cto form compound B. The alloy of A
is used in making aircraft parts. Identify A and B.

27, i) EpssamBster Fwrrd) amEs galaranssh pToRSsSETL H5HS
3|) Fraugdlvarry o) grsusgiglsron
i) 1.0 x 10* Gursuri@eglaysirr HNO; sengrsfiar pH wflimus ssrsdfs
i) Give an example for cach kind of solution given.
a) gas in liquid b) solid in liquid. ;
if) Calculate the pH valueof 1.0 x 10 molar solution of HNO;,
B 1) ot pGad foir Adiens uppid Geri@sd o Adsmsu CaupuGigs.
iiy HIV LT s g 1] usGaumy auflsenans S pis.

i) Distinguish between sorati gene (hrapy and gera he 8e0% g SIS
ii) 'What are the various routes by which transmission ot human y

takes place ?
X3, penarufler uamflsamar vl queld®s.
List out the functions of brain.

i) oy enL ersueurm saurfadpsl ? _.

0. ? i
rsafis WG mmr_ﬁu@gﬂmay

ii) 0 @GarcsAugssd 7 gL BT
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1) How does leech respire?

ii) Why is vegetative propagation practiced for growing some types of plants?
3. v eILTEd Freurtisetls) srausurg pml_@umléﬂmél?
How does fossilization occur in plants?

32. i) draigi mppseldoss sefoafior L@, oma g
Asrgfamus Cripsme aaran HFPSTGHMLF Ceihs aGnemin "’."3
‘safwmissildr QuirsmaTS Hma.

2. @hss Oaredh seflomsder yambsi NEa|D HPOUTET swa 5,
Sjenwiemus BT s,

o @ipss Os1eds safluiisdr QuEDUTID Caud allmerssflsa #BuGag
Esvemev.
i) m&Csemar il msder afsmginer sag). ar?
i) From the following clues identify the group number in the periodic table and write the
names of any two elements of that group.

a. The atoms of this group have very stable electronic configuration
b. These elements are mostly unreactive

il) Why ethene is more reactive than ethane?

ugd TV
PART IV
) simends eflanndssmsEio elenL wafldsayin.
i) GG aflemnelihEto erap Lol G st seir
i) Gaepauwimes B isaieh UL s,
i) Amnswer all the questions
ii) Each question carries seven marks,
iii) Draw the diagram wherever necessary.

Goioy:

Note © 3

33A. 1) AB eemp Qurmer Gl Qasirder aumea; ewwbd C GO u

SriqusTenarg aubAULL BT SET aushruL s (pugaBITS suenT®

c

o . . : : 14
agLumpuld) o dren i A A l-i-‘m

i) su N ‘ ' TEMOUT B meurme) UbsssmS mn-é].saiﬂ’? : "

RETTR SUITD HGLUNDEND o_grar Y& 5IGEemeT Ggeneurd!

: @mwaﬁwmw. UGS THUL Gerer

y Lﬂﬂ"!
aQsis 5 5 " 6 rom?
Qi 5 a @mpurigeir G_uu:ﬁ'.&"
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338.

A,

jii) 92 U 25 STHD oy s
yHlsrs £ meumip
E eI

szﬂrmg.i P aydur Amzalhe o L L@EDs el

tLamallsr duy rrerssfisr stemrenflEsnamenwd
i) An Object AB is placed g the
oty Coiliig i s::m of curvature C of the convex lens as shown in the

¢

i) A Student in a class room can read
the black board distinetly Write

fext book but he/ she can't able to see the letters on
Suggest a remedy.

the name of his'her eye defect and what is the cause?

238 .
fii) o2 U *** experiences one a decay. Find the numiber of neutrons in

the final
nucleus that is formed. ¢ final daughter

(o) (sro023)
) Beir@eTm LD eTsirmrdd ereiran?
i) s @R Sfler Sms aemrwn.
i) lerG@arri 1L sms nﬁﬁ@ﬂﬁ@ﬁﬁ Sarallypyuyic? syEmer g
isirahflsv ersuaury) @mends GuanGo?

iv) LED allard v peiranwsr aGamib Gy mens s pis
1) . What is meant by electric current?
ii) Define the unit of electric curreat.

iii) Which instrument is used to measure the electric current? How should it be connected in
a circuit?

iv) List any two merits of LED bulb_ A
) A ety o Gurasdsr it grer oy 28,181 s@0. o Guran A gyars
st i AriUEEPPE -0k Cures B «p uimedp Criupms
; o Garst A ST HzS0s oL st allvaryfipg Geiwdssr C
-OmraoAps: aryPmes Criob syse. A B, C
wims D g L@mg@aaw._n S
LHnInD gy fwnpeps G CHGO. SyFe _OH @preHilien
i) gir g emanrdar Yo o :
D erair 2. G GPOUEALODS

i SIrOUTES
g
g ﬂmﬂ“‘lg'ﬁ QaTowT sTaT 6T(L5IS.

9)) SpgieL T
) @30rinpds |UPAC @U"’wm.

. gl SV
) wpGsiuipepa?




34B.

35A.

i)

ii)

i)

1)

i)

v

2.8,18,1. Metal A when exposeqd 1o

The electroni figuration of metal A is : aj
nic configu "1 B. A reacts with conH,S0, it g

moisture forms a green coloured compou ' to f
compounds C and D along with water. D isa gascous compound. ldentify A;B ¢ and
The molecular formula of an alcobol is CHigO. The locant number of its ~OH gr, is
From these details

(a) Draw its structural formula.

(b) Write its IUPAC name.
(¢) Write whether it is a saturated compound or an unsaturated compound?

(or) (yevsoz1)

SMIFVHT 2 _(HeurHsd GlFrLTumer SpsaTEId SMPDD BITbs 26

hq
§

2

TOSGESTL QLT aflerigs. IEEMILUTETEST  GEFEDT  QuTgay,

SMTEEGTDET i
siteurmio Couglallenarsanar ,9gmébssim @iyl SDUBIST Djig Iuen g,
amstuBEE 2_wg aloamw Huruiubsss. ’

2 KClO; — 2KCI+30,

Zn + CuS0;4 — 7n804+Cu

2Mg+ 0, — 2MgO

Na,S0,4 + BaCl, ——— BaS04+2NaCl

Analyse the following statement about the formation of solutions and explain with an
example. “Like solvents dissolveLike solutes” . AT

Classify the following chemical reactions based on rearrangement of atoms and justify
your answer. ' ,

i

2 KCIOs . 2KCI+30, 1
Zn + CuSO4 ——»  ZnS04+Cu

Mg+ 0, » 2MgO "

Na,;S04 + BaCl, — 5 BaSO4+2NaCl

FOUTF FEY - QUEHTIWID &5,

G L_13. EMTEY STEHTMTE) 6TsbT60r7?

afleviigsald sailar of flw g dsir eflevereys
Define respiratory quotient.

What is cohesion?

What are the effects of hybrid vigour in animals?

6T Wreneu?

(OR) (spivevg;)

ii)

i1)

3R oD THDTE) sreiyey?

2) l;;;: @;;;u:?sb B pefleh i.creir.or.alsir @ rain® G)enypsemeriyid

) @V'-'-luf':‘”-mﬁd’ E@ovullsir GGy o_girer @Qriené smmert NSS!
PSSV THener ,rgg;@cb G’ﬁ”’sﬁ

@) PusNCuremn Gasmer Crirdgib Gmrd)

) 1q.6TeT.6T.aflsir SMPswar  perplensrési uwsiTu@BD  GOmHrd

o) BIrLWOuTES smader Qs ubsrksenis — erp G P

sHI5G 0 Gurg @ﬂ‘ﬂ_k}ﬂ!urrgsb Yy £psg.
What is 3R approach?

a. In DNA replication, the enzyme that separates the two strands of DNA is
b. Enzyme that removes the t\_?'-'ists formed during the unwinding process of DNA is

c. Nucleotides are added with the help of an enzyme called
d. The DNA fragments are joined together by the enzyme
e. The replication stops when the replication fork of the two sides meet at the site called




10th — Science — PTA Question — 1: Answer Key

PTA Question - 1 Answer key

13.
14.
15.
16.
17.

18.
19.

20.

21.
22.

PTA — Model question Paper —1

PART -1

1. ¢) change of momentum
2. C) remains same

3. d) glass > water > air

4. ¢) carbon dioxide

5.a) 17

6. b) deliquescence

7. d) canine

8. b) thalamus

9. a) mitosis

10.
11.
12.

a) radio-carbon method
a) May 31
a) script area
PART -l
Unit-2 : TB Pg.no: 30

Unit-6 : TB Pg.no: 89

WTS Guide Pg.no: 25
WTS Guide Pg.no: 85
Unit-10: TB Pg.no: 153 ~ WTS Guide Pg.no: 130
Unit-11:TB Pg.no: 171 WTS Guide Pg.no: 141

Unit-12 : (Inside TB.Pg.no: 174) Vascular bundle :
Xylem and phloem tissues are present in the form of
bundles called vascular bundles. Xylem conducts
water and minerals. Phloem conducts food
materials.

Unit-14 : TB Pg.no: 215
Unit-16 : Inside Pg.no: 235

rl'

WTS Guide Pg.no: 177

The person shown in the figure is suffering from
goitre. Itis caused due too the inadequate supply of
iodine in our diet.

Unit-18 : TB Pg.no: 272

Unit-22 : TB Pg.no: 327
Unit-1 : Given data :

Acceleration (@) =1.8ms?  m=50Kkg

If Lift is moving downward with an acceleration
'a’ then the Apparent weight is , R=m(g-a)

R=50(9.8—-1.8)=50x 8
So, Apparent weight is = 400 N

WTS Guide Pg.no: 225
WTS Guide Pg.no: 266

PTA - wrglfl aflemsgmer — 1

R T A

10.
11.
12.

13.
14.
15.

17.

18.
19.

20.

21.
22.

uggl — 1
&) 2 b5 LIBBID
@) rBBLOeLEN6EV
F) SHeuileNTly > BT > SMBml
®R) SMTUCIIENL HHNF B
) 176ugl
3l) FJD 2 n5lehdlHHemyaHe0
) Camemyll Lisd
) FHEVTLOETL
3l) ol LTdlerd
3l) Crg@uir smitue (Lpemm
S1) G 31
a1 Script area

ugdl — Il

IVG-2: Lss etemi: 30 WIS Lietemr : 26

SVG-6: L)55H ctomr: 88 WIS wverer - 88

YVG-10: 11555 eteoor: 151 WTS Li.6te00r : 134

SYv@-11: 11555 eteor: 167 WTS riete00r - 147

@yev@-12: Inside TB.Pg.no: 171

CUTGTOEHGVT] BT : 6DF6VLD LoD LJCITTLILD
BIFHBMNED  CIBTRT BT BIDBEBET UTEYVEH VI
BBDBBENT 6TMLIIBID. 6DFGVID [B  LOID
BEONDBIBENONT BL_HDIBIBD). LCENITUID 2600t ]
GULITIBOTTBEN6NT Bl HSHIBIE.

VG- 14: 1555 eteor: 211 WTS Lreremr @ 183

DIVG-16: 2 _611155% oTevoi: 232

ﬂ'.
)

%

a

LGS0 2_61I61T [BLISHILI LITSHIGSHINET &6nBLITH
6T BITULILLY. 2 _60016)le0 GHemeyLITET D616y
SICuwimigedr BeVeVTHHT6V GITLIBBIBLI.

Yv&-18: 1555 eter: 271 WIS wieremr : 237

SV&G-22: 1)55%5 eteor: 327 WIS 1ietemor - 281
SIVG-1: CIBTBSSBLILIL L 616):

WBSHD = 1.8 15 plew = 50 &)@, 10075T15H]
@’ a1y (wpBEHE WHNIO B [BEBFBNIEI 6T,
Commm e16mi_

R=m(g-a)=R =50(9.8-1.8) =50 x 8
G esm. =400 N

wtsteam100@gmail.com

WWW.waytosuccess.org
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10th — Science — PTA Question — 1: Answer Key

PART —IlI
23. Unit-1: TB Pg.no: 14 WTS Guide Pg.no: 8

24. Unit-3 : i) The ratio of increase in length of the body
per degree rise in temperature to its unit length is
called as the coefficient of linear expansion.

Unit-3 : ii) AL= increase in length, AT =323K- 303K =20K

Lo (Original length)=50m, & =23 x10°K™!

AL
—=aL AT
Lo

AL = o AT x Ly = (23 x10%)x20 x 50 = 0.023
25.

Unit-5 : i) and ii) TB Pg.no: 72 WTS Pg.no: 75

26. Unit-7 :

Unit-8

i) TB Pg.no: 104 WTS Guide Pg.no: 100
i) TB Pg.no: 122 WTS Guide Pg.no: 111

27.Unit-9: i) TB Pg.no: 135 WTS Guide Pg.no: 120

Unit-10 :ii) TB Pg.no: 154 WTS Guide Pg.no: 133

28. Unit-20: i) TB Pg.no: 298 WTS Guide Pg.no: 246

Unit-21 :ii) TB Pg.no: 312 WTS Guide Pg.no: 255

29. Unit-15: TB Pg.no: 228  WTS Guide Pg.no: 191

30. Unit-13: i) TB Pg.no: 198 WTS Guide Pg.no: 164

Unit-17 :ii) TB Pg.no: 258 WTS Guide Pg.no: 215

31. Unit-19: TB Pg.no: 283  WTS Guide Pg.no: 236

32. Unit-8: i) 18" group elements (or) ‘0’ group

elements - He, Ne, Ar, Kr
Unit-11: ii)
Ethene has a double bond, which is

comparatively unstable when compared to
ethane. Thus ethene is more reative than ethane.

PART -1V
33A. Unit-2: i)

b 4

uagl — 11
23. ov@-1: 1555 etem: 13 WIS Lierer @ 8

24. I6v@-3: 1) UV Gl IBlewsv 2_wijeuTsd GLITgBe1 e
BMSHD GHLUGLD WOTHBSSBSID QIVS BNSHHESID
2 ot H&6Y Mo Gewlis affley GBI YSHLD.
vg-3: 1) AL= Benbged giuBIDd 1omBBLD,
AT =323K- 303K = 20 K, o, =23 x106K?
Lo (2_ewieniowimen enid)= 50m
A—LZOCL AT
Lo

AL = o AT % Ly= (23 x10%) x 20 x 50=0.023
25. @wves-5: 1) i ) 1g55  etevr: 72 \NTS Li.e76007: 77

102
114

26. oyov@-7: 1)1jo555 etemr: 103 WTS  Li.6m6007
Ov&-8: ) 555 eremr: 119 WTS wieremr -

124
138

27.960@-9: o855 etemr: 132 WTS  Li.ere007 :
VG- 10: \)ys55 etemr: 151 WTS 11616007 -

260
270

28.96v@-20: 1)555 etemi: 297 TS 11676007

V&-21: 1) y555 eremr: 313 WTS  Li.et607

29. 95608 15: 1555 oo 225 WIS rieremr : 197

171
225

30.9mv@-13: ) 555 oremr: 195 WTS  Li.er6007 -

v&-17- ) ys585 otemi: 255 WTS  Li.e76007 -

31.96v&-19: 1555 etemr: 283  WTS rieremr : 250
32.9/6V&-8: 1) 186Ul QBTGIS SONOBIBET (DIEVEVS])
yodus Qeresls seanwsiser- He, Ne, Ar, Kr

SIv&-11: i)
FHHEN60 aIelenOEHmBHS L 6wl Ceudi i leneuori iL |
BQHULSTE DIFH6N HlemevliLiGHgeiento FéBHemenelL &
Goome). e1en@an  FHGHemeneNl e  elemendiment

10&BHSH.
ugad — IV
33A. 9vE-2: i)

®
C2

A

’L‘: s 42F2

A —4
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10th — Science — PTA Question — 1: Answer Key

33A. ii) Unit-2: Name of the defect - Myopia also
known as short sightedness occurs due to the
lengthening of eyeball. With this defect nearby
objects can be seen clearly but distant objects cannot
be seen clearly. This defect can be corrected using a
concave lens.

Unit-6: iii)
UZ}S

92

X'+ He'

a decay %0 ,

_—
Number of neutrons
= mass number - atomic number
=231-90=141

33B.Unit-4:i)ii)iii) TB Pg.no: 57 WTS Guide Pg.no:56
Unit-4: iv) TB Pg.no: 57 WTS Guide Pg.no:57

34A.Unit-8: i) TB Pg.no: 123 WTS Guide Pg.no: 112
Unit-11:ii))TB Pg.no: 171 WTS Guide Pg.no: 144

34B.Unit-9: i) “Like solvent dissolves like solute”
This expression means that dissolving occurs
when similarities exist between the solvent and
the solute.
Polar Compounds are soluble in polar solvents-
Ex: Common salt is a polar compound and
dissolves readily in polar solvent like water.
Non-polar compounds are soluble in non-polar
solvents - Ex: Fat dissolved in ether. But non-
polar compounds, do not dissolve in polar
solvents; polar compounds do not dissolve in
non-polar solvents.

34B.ii) Unit-10 :

Decomposition :2 KCIO; — 2KCI + 30,
Potassium chlorate is decomposed as
Potassium chloride and Oxygen.

Single Displacement:Zn+CuSOs— ZnSO4+ Cu
Zinc element displaces copper in copper
sulphate and forms zinc sulphate and elemental
copper.

Combination: 2 Mg + O, — 2MgO
Magnesium combines with Oxygen to form
Magnesium Oxide.

Double Displacement:

Na,SO, + BaCl, — BaSO4 + 2NaCl

Sodium and barium interchange its position to
form barium sulphate and sodium chloride.

33A. i) SIva-2: GemmLm geir Gy - @@L ILT
GTG0TLIG B LLILITome)  eTenllIipD. B&I PG CHTeNmDd
S Booih NBUSTEO GHLBEIS!. BBV SYBEH6V
2 6161 GLITIE6NTEMeNS GIBEIIUTS  BITGHTUPIQUILD. 4 6TTED
CBTemevalsy 2 _aiTeT  GULITIFEITHEWENT  BITGRTLPIQUITS/.

B&HS GG  CBHTemevey  GIBTewI.  GHIGVeTeNFL
LIGITLIBSS) FGFUILIGVTLD.
QIVG-6: iii)

WU o Aensa WX+, He*

Blul greiiaeedr  eTevTentdbemad
= Henm 6l6wl - DigW) 6T6uT
=231-90=141

33B.opv@-44) i) iil) 555 eremr: 58 WTSieremr - 57
VG-4: V) 155 erewr: 58 WTS rretemr : 58

115
151

34A. ov&-8: )ysas erewr: 119 WTS 1616007 -
Dv-11: 1) 1555 eremr: 168 WTS 1616007 -

34B. omve-9: 1) ‘@5 BWCLITGL BT P55
BENJLILITGN6D HomTHIBS”
SHMIELTHEHHSD HMILILTIGGID HemL Gl gimienio
STemILIBD CUTH HTel HMIHED HBHLBEME.
(pEneTSYLID GCFFLOBIBET (LPEDETYIULD FHEMTLILITENED
6TENBID  BEDTBIBI.

6LBT : FeMOWEL 2 (1] (psweiieymid GFjo  ereurGeu
BFH  (pwUOBID  HwILLTETEN By  elaMled
SHMJEBSI.

(pEDTYDBISF CFJLOBIBONT (LPEDETEYDT BEDTLILITEAE)
611DV BT BB,
6L.BT : FHfl6D SMIHBULILL QBTIDLIL.  SUeuIT6D,
WpeweueBTF CFTLOMISET (LPENeNBILD SHENFLILITEN6D
BHMIEUF6VMEV. DIFHICLITEV, (LpsweeBID CFTLomIH6IT
(LPEDEMBT HMILILITEND HMT6IZ606M60.

34.B. i) owve-10 -

Aoy ofeweor : 2 KClO3 — 2KCI + 30,
Qum’_Lmrduwib &Bemm@yL_ GFiyLDLOT 6O
Qum_Lrdwid &Cenmeny®B  LBBID  dHendesi
APEVBIDBIHENTS  FeNHEUeNL P B,

@uenm @ LGlisd: Zn+CuSOs— ZnSO4+ Cu
2Ahib SHoD HTULY F6v. B 19edhha STLLIeD]Y
BLiCuwFFS  QFuig hib  FeoGUL  LBMID
ST HNDHMB 2_(HUTHGHB MBS

Codens  cXlaner: 2 Mg+ O, — 2MgO
QLoébaidwip, A HerImenIL 65 QenembE
QodefFuID PHMENDL & SHHBMSI.

Syl G LGS
Na,SO; + BaCl, — BaSO, + 2NaCl
@Ggmguib LOBBILD Guifluub SIUWIEHB6IT

AL QuugFfwmeusmed  Guifiud  Fs06LL.  OBBID
Camouid &Genmeny® 2_HUTH MBI
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10th — Science — PTA Question — 1: Answer Key

35A.Unit-12: i) TB Pg.n0:185 WTS Guide Pg.no:158 | 35A. ayevg-12: 1) WTS Li.eremr : 164
Unit-14:ii)TB Pg.no: 214 WTS Guide Pg.no: 176 Sev@-14: i) 555 etemr: 211 WTS  Lietemr : 182
Unit-20:iii)TB Pg.no: 298 WTS Guide Pg.no:247 DV&-20: i) 555 eremr: 297 WIS Li.eremr :260

35B.Unit-22:i) The 3R approach such as Reduce, | 35B. @wvg-22: 1) sfeyzsemer  Fpiwmsr  upsopuied

Reuse and Recycle may be followed for wawrenasns 3R wow gppsiew. Reduce
effective waste management. -Gomwsse0, Reuse - wmwsirp, Recycle
LOYFHLBS,

Unit-18:ii) Sv&-18: i)

a) Helicase - Inside TB Pg.no:268 =) CawaI@serd - YE&s s 266

b) Topoisomerase - Inside TB Pg.no:268 @) CLrGregGenGloGrsrd - 11555 e 266

C)DNA Polymerase- Inside TB Pg.no:268 8) w.eree LTIGGIeD - LSS oTemi: 267

d) DNAligases - Inside TB Pg.no:268 7)) 196760167 weVBHETD - LjSHB 6lewl: 267

e) Terminuslinside - Inside TB Pg.no:268 2 ) GLindensrd - UGBS eTeml: 267

wtsteam100@gmail.com WWW.Waytosuccess.org


mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

	1
	1a
	10th-Science-PTA-Qstn-2-key.pdf


